Токуо Ј. Матн. Vol. 9, No. 1, 1986

A Characterization of Cyclical Monotonicity by the Gâteaux Derivative

Taeko SHIGETA

Tokyo Metropolitan University (Communicated by K. Ogiue)

Introduction

Let X be a real Banach space and X' be its dual space. In this paper, we characterize the (maximal) cyclical monotonicity of a w^* -Gâteaux differentiable (nonlinear) operator: $X \rightarrow X'$, by means of the Gâteaux derivative. Our result is a nonlinear version of the well-known proposition; A linear and densely defined maximal monotone operator in a Hilbert space is cyclically monotone if and only if it is self-adjoint.

We give an equivalent condition for a w^* -Gâteaux differentiable operator from X to X' to be cyclically monotone, under some assumptions. Furthermore we give sufficient conditions for a (w-)Gâteaux differentiable operator in a Hilbert space to be maximal cyclically monotone. For instance, our Corollary 1 says that an operator A in a Hilbert space is maximal cyclically monotone, if $\delta A(x)$, the minimal closed extension of the Gâteaux derivative of A at x, is positive self-adjoint for each x in the domain of A, under a suitable assumption.

§1. Preliminaries.

Throughout this paper we use the following notations and definitions. X denotes a real Banach space with norm || ||, and X' denotes its dual space. We denote by (x, f) the pairing between $x \in X$ and $f \in X'$. Especially if X is a real Hilbert space, (,) is the inner product and we use the notation H instead of X.

For a subset S of X, \overline{S} denotes the closure of S in X.

Let A be an operator from X to X'. D(A) denotes the domain of A and R(A) denotes the range of A. We denote the minimal closed extension of A by \overline{A} .

Received January 10, 1985

Let A be a linear operator from X to X'. A is said to be symmetric if (x, Ay) = (y, Ax) for every x and y in D(A). A is said to be positive if $(x, Ax) \ge 0$ for every x in D(A).

A (multi-valued) operator A in H is said to be monotone if $(x_1-x_2, x'_1-x'_2) \ge 0$ whenever $x'_i \in Ax_i$, i=1, 2. A monotone operator A is said to be maximal monotone if it has no monotone extensions in H. It is well-known that a monotone operator A in H is maximal monotone if and only if $R(I+\lambda A)=H$ for some $\lambda>0$.

A (multi-valued) operator $A: X \to X'$ is said to be cyclically monotone if $\sum_{i=1}^{n} (x_i - x_{i-1}, x'_i) \ge 0$ whenever $x'_i \in Ax_i$, $x_n = x_0$, $x'_n = x'_0$. A cyclically monotone operator A is said to be maximal cyclically monotone if it has no cyclically monotone extensions from X to X'.

Let $\phi: X \to (-\infty, \infty]$ be a convex functional. Also assume that ϕ is proper, i.e. that its effective domain $D(\phi) = \{x \in X; \phi(x) < \infty\}$ is nonempty. Then the subdifferential of ϕ is defined by

$$\partial \phi(x) = \{z \in X'; \phi(w) - \phi(x) \ge (w - x, z) \text{ for all } w \in X\}$$
.

 $\partial \phi: X \to X'$ is cyclically monotone. Furthermore, it holds that an operator $A: X \to X'$ is maximal cyclically monotone if and only if $A = \partial \phi$ for some lower-semicontinuous proper convex functional ϕ .

DEFINITION. Let $A: X \to X'$ be a single-valued operator with convex domain. We shall say that A is Gâteaux differentiable on D(A) if there is a linear operator $\delta A(x): X \to X'$ such that

(1.1)
$$\lim_{\substack{\lambda \to 0 \\ x+\lambda y \in D(A)}} \frac{1}{\lambda} \{A(x+\lambda y) - Ax\} = \delta A(x)y \text{ for } \forall y \in X' \text{ with } x+y \in D(A) ,$$

for every $x \in D(A)$. Furthermore, $\delta A(x)$ is called the *Gâteaux derivative* of A at x. If the convergence in (1.1) is in the weak (resp. w^*)-topology, we say that A is w (resp. w^*)-*Gâteaux differentiable*.

§2. Theorem and proof.

THEOREM. Let $A: X \to X'$ be a w^{*}-Gâteaux differentiable operator on convex domain D(A) and w^{*}-continuous on every 2-dimensional subset in D(A). Then the following three conditions are equivalent.

- 1°) A: $X \rightarrow X'$ is cyclically monotone.
- 2°) $\delta A(x): X \to X'$ is cyclically monotone for each $x \in D(A)$.
- 3°) $\delta A(x): X \rightarrow X'$ is positive symmetric for each $x \in D(A)$.

REMARK 1. Let A be an operator in a Hilbert space H. Suppose that there is a dense Banach space Y such that $Y \subset H = H' \subset Y'$, and $\tilde{A}: Y \to Y'$ such that $A = \tilde{A}_H$ (the restriction of \tilde{A} to $D(\tilde{A}_H) = \{x; \tilde{A}x \in H\}$). If $\tilde{A}: Y \to Y'$ is cyclically monotone, then A is cyclically monotone in H. Hence, if \tilde{A} satisfies the hypothesis of Theorem and the condition 2°) or 3°), then A is cyclically monotone.

To prove Theorem, we shall show the following lemmas.

LEMMA 1. Let $A: X \to X'$ be an operator with convex domain, and be w*-continuous on every 1-dimensional subset in D(A). Suppose that there is $x_0 \in D(A)$ such that

(2.1)
$$\int_{0}^{1} (y, A(x_{0}+sy))ds + \int_{0}^{1} (z, A(x_{0}+y+sz))ds$$
$$= \int_{0}^{1} (y+z, A(x_{0}+s(y+z)))ds$$

for every $y, z \in X$ with $x_0 + y, x_0 + y + z \in D(A)$. If ϕ is defined by

(2.2)
$$\phi(x) = \int_0^1 (x - x_0, A(x_0 + s(x - x_0))) ds \quad for \quad x \in D(A) ,$$

then for each $x, y \in D(A)$, the function $t \mapsto \phi(x+t(y-x))$ is differentiable on [0, 1] and

$$\frac{d}{dt}\phi(x+t(y-x))=(y-x, A(x+t(y-x))) \quad for \quad 0 \leq t \leq 1.$$

PROOF. Let u and v be any elements of D(A). We put $v_1 = v - u$. Taking $y = u - x_0 + tv_1$, $z = hv_1$ $(0 \le t, t + h \le 1)$ in (2.1), we have

$$\phi(u+tv_1) + \int_0^1 (hv_1, A(u+tv_1+shv_1)) ds$$

= $\phi(u+tv_1+hv_1)$.

Hence, we have that

(2.3)
$$\frac{1}{h} \{ \phi(u + (t+h)v_1) - \phi(u+tv_1) \} \\ = \int_0^1 (v_1, A(u+tv_1+shv_1)) ds .$$

Since $(v_1, A(u+tv_1+shv_1))$ is continuous in h, by letting $h \to 0$, the righthand side of (2.3) converges to $(v_1, A(u+tv_1))$. Thus the assertion holds.

LEMMA 2. Let $A: X \rightarrow X'$ be a cyclically monotone operator with convex domain, and be w*-continuous on every 1-dimensional subset in D(A). Then A satisfies the hypothesis of Lemma 1.

PROOF. Let x, x+y and x+y+z be any elements of D(A). We set

$$x_i=x+\frac{i}{n}y$$
, $y_j=x+y+\frac{j}{n}z$, $z_k=x+\frac{k}{n}(y+z)$

for i, j, $k=0, 1, \dots, n$. From the covexity of D(A) we have

$$x_i, y_j, z_k \in D(A)$$

for $i, j, k=0, 1, \dots, n$. From the definition of x_i, y_j and z_k , we have $x_{i+1}-x_i=(1/n)y, y_{j+1}-y_j=(1/n)z, z_k-z_{k+1}=-(1/n)(y+z)$ for $i, j, k=0, 1, \dots, n-1$. Thus, for the cyclical sequence $\{x=x_0, x_1, \dots, x_n=x+y=y_0, y_1, \dots, y_n=x+y+z=z_n, z_{n-1}, \dots, z_0=x=x_0\}$, we use the cyclical monotonicity of A to have

(2.4)
$$\sum_{k=0}^{n-1} \left(\frac{1}{n} (y+z), Az_k \right) \leq \sum_{i=1}^n \left(\frac{1}{n} y, Ax_i \right) + \sum_{j=1}^n \left(\frac{1}{n} z, Ay_j \right).$$

Similarly, for $\{z_0, z_1, \dots, z_n = y_n, y_{n-1}, \dots, y_0 = x_n, x_{n-1}, \dots, x_0 = z_0\}$, we use the cyclical monotonicity of A to have

(2.5)
$$\sum_{k=1}^{n} \left(\frac{1}{n} (y+z), A z_{k} \right) \geq \sum_{i=0}^{n-1} \left(\frac{1}{n} y, A x_{i} \right) + \sum_{j=0}^{n-1} \left(\frac{1}{n} z, A y_{i} \right).$$

Letting $n \rightarrow \infty$ in (2.4), we get

$$\int_{0}^{1} (y+z, A(x+t(y+z)))dt$$

$$\leq \int_{0}^{1} (y, A(x+ty))dt + \int_{0}^{1} (z, A(x+y+tz))dt .$$

Letting $n \to \infty$ in (2.5), the reverse inequality holds in the above. Hence we obtain (2.1) for any $x \in D(A)$.

LEMMA 3. Let u(t, s) and v(t, s) be partially differentiable and continuous real-valued functions on a simply connected domain $D \subset \mathbb{R}^2$, and suppose that $(\partial u/\partial t) = (\partial v/\partial s)$ on D. Then $\int_Q (uds + vdt) = 0$ for every polygon Q in D.

PROOF. If u and v are C^1 -class functions on D, we have the conclusion by Green's theorem. Thus the assertion of Lemma 3 follows by

using the mollifier.

LEMMA 4. Let $A: X \to X'$ be a w^* -Gâteaux differentiable operator on convex domain D(A) and w^* -continuous on every 2-dimensional subset in D(A). If $\delta A(x)$ is symmetric for each $x \in D(A)$, then A satisfies the assumption of Lemma 1.

PROOF. Let x, y and z be elements of X with x, x+y and $x+y+z \in D(A)$. We set

$$P = \int_0^1 (y, A(x+sy)) ds + \int_0^1 (z, A(x+y+sz)) ds$$
$$- \int_0^1 (y+z, A(x+s(y+z))) ds .$$

We have only to prove that P=0. If y and z are linearly dependent, this is trivial from the definition of the integral. Hence, we may assume that y and z are linearly independent. We set

$$g(t, s) = (y, A(x+ty+sz))$$

 $h(t, s) = (z, A(x+ty+sz)).$

Since $D(\delta A(x)) \supset D(A) - x$ for every $x \in D(A)$, D(A) is convex and A is w^* continuous on every 2-dimensional subset in D(A), we easily see that g
and h are partially differentiable and continuous on domain $D \supset \{(t, s); 0 \le s \le t \le 1\}$. Moreover we have

$$\frac{\partial}{\partial s}g(t, s) = (y, \, \delta A(x+ty+sz)z)$$
$$\frac{\partial}{\partial t}h(t, s) = (z, \, \delta A(x+ty+sz)y) \, .$$

Noting that $\delta A(x+ty+sz)$ is symmetric, these imply that

$$\frac{\partial}{\partial s}g(t, s) = \frac{\partial}{\partial t}h(t, s)$$
 on D .

Hence, applying Lemma 3 to u=h, v=g and $Q=\{(t, 0); 0 \le t \le 1\} \cup \{(1, s); 0 \le s \le 1\} \cup \{(t, t); 0 \le t \le 1\}$, we obtain that

$$P = \int_{Q} (g(t, s)dt + h(t, s)ds) = 0$$
.

Now we shall prove Theorem.

PROOF OF THEOREM. "3°) implies 1°)." Suppose that 3°) holds. Then it holds by Lemma 4 that A satisfies the hypothesis of Lemma 1. Let ϕ be the functional on D(A), defined by (2.2), which satisfies the conclusion of Lemma 1. We extend ϕ on X, (which denotes the same ϕ) as follows: $\phi(x) = \infty$ for $x \notin D(A)$. We devide the proof of 3°) \Rightarrow 1°) into the following two steps.

1) We shall show that $\phi: X \to (-\infty, \infty]$ is convex and proper. Since $D(A) \neq \emptyset$, ϕ is proper. Thus we only need to prove the convexity of ϕ , i.e.,

$$t\phi(x) + (1-t)\phi(y) \ge \phi\{tx + (1-t)y\}$$

for $x, y \in X$, $0 \leq t \leq 1$. Since D(A) is convex and $\phi(x) = \infty$ for $x \notin D(A)$, the last inequality is trivial when x or $y \notin D(A)$. Thus we have only to show that ϕ is convex on D(A). Let x and y be any elements of D(A). Then, for $0 \leq t \leq 1$, we have

(2.6)
$$\frac{d^2}{dt^2}\phi(x+t(y-x)) = \frac{d}{dt}(y-x, A(x+t(y-x)))$$
$$= (y-x, \delta A(x+t(y-x))(y-x))$$
$$\geq 0.$$

At the last inequality of (2.6), we used the positivity of $\delta A(x+t(y-x))$. (2.6) implies that ϕ is convex on D(A).

2) We shall show that $A \subset \partial \phi$. Let $x, y \in D(A)$, and $t \in (0, 1)$. From 1), we have

$$\phi(x+t(y-x)) = \phi((1-t)x+ty) \leq (1-t)\phi(x)+t\phi(y) .$$

Therefore,

$$\frac{1}{t}\{\phi(x+t(y-x))-\phi(x)\}\leq\phi(y)-\phi(x)$$

Letting $t \downarrow 0$, it follows from the property of ϕ that

$$(y-x, Ax) \leq \phi(y) - \phi(x)$$

This inequality is obviously true for y which is not in D(A). Therefore, $x \in D(\partial \phi)$ and $Ax \subset \partial \phi(x)$ if $x \in D(A)$. This implies that $A \subset \partial \phi$. Hence, A is cyclically monotone.

"1") imples 2")." Suppose that 1") is satisfied. Let x be any fixed element of D(A). We must show that $\delta A(x): X \to X'$ is cyclically monotone. Let $x_0, x_1, \dots, x_n = x_0 \in D(\delta A(x))$. Then there is an $\eta > 0$ such that

 $x+tx_i \in D(A)$ for $|t| < \eta$ $(i=1, \dots, n)$.

Since A is cyclically monotone, we have

$$\sum_{i=1}^{n} (t(x_i - x_{i-1}), A(x + tx_i)) \ge 0$$

Therefore,

$$\sum_{i=1}^{n} (t(x_i - x_{i-1}), A(x + tx_i) - A(x)) \ge 0$$
 .

Dividing this inequality by $t^2(>0)$, and letting $t \downarrow 0$, we obtain

$$\sum_{i=1}^{n} (x_i - x_{i-1}, \, \delta A(x) x_i) \ge 0 \, .$$

This implies that $\delta A(x)$ is cyclically monotone.

"2°) implies 3°)". Suppose that 2°) holds. Let x be any fixed element of D(A). We must show that $\delta A(x)$ is positive symmetric. We set $B = \delta A(x)$. The monotonicity of B means that B is positive. Thus, we have only to show that (y, Bz) = (z, By) for $\forall y, \forall z \in D(B)$. Applying Lemmas 1, 2 with A = B and $x_0 = 0$, we have

$$rac{d}{dt} \phi(y\!+\!tz)ert_{t=0}\!=\!(z,\,By)\,,$$

where $\phi(w) = \int_0^1 (w, B(tw)) dt = (1/2)(w, Bw)$ for $w \in D(B)$. Therefore we obtain that

$$\begin{aligned} (z, By) &= \lim_{t \to 0} \frac{1}{t} \{ \phi(y + tz) - \phi(y) \} \\ &= \lim_{t \to 0} \frac{1}{2t} \{ (y + tz, B(y + tz)) - (y, By) \} \\ &= \frac{1}{2} (y, Bz) + \frac{1}{2} (z, By) . \end{aligned}$$

This yields that (z, By) = (y, Bz), and the proof is complete.

From the next two theorems and our Theorem, we get a sufficient condition for the maximal cyclical monotonicity.

THEOREM A (see [4]). Let $B: H \to H$ be a positive definite (i.e., $\inf_{x \in D(B), ||x||=1} (x, Bx) > 0$), self-adjoint operator. Then R(B) = H.

THEOREM B (see F.E. Browder [2] Corollary 2 to Theorem 2). Let

A be a Gâteaux differentiable operator in H with convex domain and closed range. If $R(\delta A(x))$ is dense in H for every $x \in D(A)$, then R(A) = H.

COROLLARY 1. Let A be a Gâteaux differentiable closed operator in H with convex domain, and suppose that A is w-continuous on every two dimensional subset in D(A). If $\overline{\delta A(x)}$ is positive self-adjoint for each $x \in D(A)$, then A is maximal cyclically monotone, i.e., there is a proper lower-semicontinuous convex functional $\phi: H \rightarrow (-\infty, \infty]$ such that $A = \partial \phi$.

PROOF. By Theorem, we have that A is cyclically monotone. Thus it suffices to show that R(I+A)=H. Since $I+\overline{\partial A(x)}$ is a positive definite, self-adjoint operator in H, it follows from Theorem A that $R(I+\overline{\partial A(x)})=H$, which implies that $R(I+\partial A(x))$ is dense in H. From the monotonicity and the closedness of A, it is easily seen that R(I+A) is closed in H. Therefore, we apply Theorem B to an operator I+A to get R(I+A)=H.

REMARK 2. Let x_0 be an element of D(A). If we define ϕ as

$$\phi(x) = \begin{cases} \int_0^1 (x - x_0, A(x_0 - t(x - x_0))) dt & \text{for } x \in D(A) ,\\ \liminf_{y \to x, y \in D(A)} \phi(y) & \text{for } x \in \overline{D(A)} \setminus D(A) ,\\ \infty & \text{for } x \notin D(A) , \end{cases}$$

then ϕ satisfies the conclusion of Corollary 1.

In fact, from the proof of Theorem, $\phi: H \to (-\infty, \infty]$ is proper, convex and $A \subset \partial \phi$. Hence $\phi(y) \ge \phi(x) + (y-x, Ax)$ for $x, y \in D(A)$, which implies that $\liminf_{y \to x, y \in D(A)} \phi(y) \ge \phi(x)$ for $x \in D(A)$. Thus ϕ is lower-semicontinuous, and the maximal monotonicity of A implies that $A = \partial \phi$.

The next corollary also follows from Theorem.

COROLLARY 2. Let Y be a reflexive Banach space such that $Y \subset H \subset Y'$ with the continuous and dense inclusion. Let $\tilde{A}: Y \to Y'$ be an operator which is everywhere defined on Y, coercive, w-Gâteaux differentiable and w-continuous on every 2-dimensional subset of Y. If $\delta \tilde{A}(x): Y \to Y'$ is a positive symmetric operator for each $x \in Y$, then $A = \tilde{A}_H$ (see Remark 1) is maximal cyclically monotone operator in H, i.e., there is a proper lower-semicontinuous convex functional $\phi: H \to (-\infty, \infty]$ such that $A = \partial \phi$.

PROOF. A is a cyclically monotone operator in H, by Remark 1. On the assumption of this corollary, A is maximal monotone in H (see [1, Example 2.3.7]). Hence, A is maximal cyclically monotone in H.

REMARK 3. The functional $\phi: H \rightarrow (-\infty, \infty]$ defined in Remark 2 satisfies the conclusion of Corollary 2 also.

In fact, the functional $\tilde{\phi}: Y \to (-\infty, \infty]$ defined by $\tilde{\phi}(x) = \int_0^1 (x-x_0, \tilde{A}(x_0-t(x-x_0)))dt$ for $x \in Y$ is proper, convex and $A = \partial \phi$ in $Y \times Y'$, from the proof of Theorem. Hence, we easily have that $A = \partial \phi$ in $H \times H$ and ϕ is a proper lower-semicontinuous convex functional from H to $(-\infty, \infty]$.

§3. Example.

In this section, we give an example of Corollary 2.

Let $\Omega \subset \mathbb{R}^n$ be a bounded damain with smooth boundary $\partial \Omega$. $(\partial/\partial x_i)$, $i=1, \dots, n$, denote distributional derivatives. $\mathring{H}^1(\Omega)$ is the usual Sobolev space which consists of $\{u \in L^2(\Omega); (\partial/\partial x_i)u \in L^2(\Omega) \ i=1, \dots, n, u=0 \text{ on } \partial \Omega\}$. $H^{-1}(\Omega)$ denotes the dual space of $\mathring{H}^1(\Omega)$. Let $\widetilde{A}: \mathring{H}^1(\Omega) \to H^{-1}(\Omega)$ be an operator such that

$$\widetilde{A}u = -\sum_{j=1}^{n} \frac{\partial}{\partial x_{j}} a_{j}(x, u_{1}, \cdots, u_{n}) \quad (u \in \mathring{H}^{1}(\Omega))$$
,

where

$$u_i = \frac{\partial}{\partial x_i} u$$
, $i = 1, \dots, n$,

$$a_j(x, u_1, \cdots, u_n)$$
: $(u_1, \cdots, u_n) \in (L^2(\Omega))^n \longrightarrow L^2(\Omega)$,

 $(3.1) a_j(x, \cdot, \cdot \cdot, \cdot) \in C^1(\mathbb{R}^n) \text{ for each fixed } x \in \Omega,$

(3.2)
$$\frac{\partial}{\partial u_k} a_j = \frac{\partial}{\partial u_j} a_k (\equiv a_{jk}) ,$$

 $(3.3) \qquad |a_{jk}(x, y_1, \cdots, y_n)| \leq M \quad \text{for} \quad \forall x \in \Omega, \ \forall y_i \in R \quad (i=1, \cdots, n) ,$

(3.4)
$$\sum_{j,k=1}^{n} a_{jk} \xi_{j} \xi_{k} \geq \alpha \sum_{j=1}^{n} \xi_{j}^{2} (\exists \alpha > 0) \text{ (uniformly elliptic)}.$$

 $A = \widetilde{A}_{H}: L^{2}(\Omega) \rightarrow L^{2}(\Omega)$ is an operator defined by

$$D(A) = \{ u \in \check{H^1}(\Omega); \, \widetilde{A}u \in L^2(\Omega) \}$$
, $Au = \widetilde{A}u$ for $u \in D(A)$.

Then A is a maximal cyclically monotone operator in H.

PROOF. We set $H = L^2(\Omega)$ with norm $\|\cdot\| = \|\cdot\|_{L^2(\Omega)}$ and $Y = \mathring{H}^1(\Omega)$ with norm $\||\cdot\|| = \|\cdot\|_{\mathring{H}^1(\Omega)}$. We have only to show that the hypothesis of

Corollary 2 are satisfied. We put $\partial u = (u_1, \dots, u_n)$. It is well-known that Y is reflexive.

1) First, we show that \tilde{A} is *w*-Fréchet differentiable on *Y* (and therefore \tilde{A} is *w*-Gâteaux differentiable and *w*-continuous on *Y*) with

$$\delta \widetilde{A}(u)v = -\sum_{j,k=1}^{n} \frac{\partial}{\partial x_{j}} (a_{jk}(x, \partial u)v_{k}) .$$

Let $u, w \in Y$ be any fixed elements. It suffices to show that

$$\frac{1}{|||v|||}(w, \widetilde{A}(u+v) - \widetilde{A}u + \sum_{j,k=1}^{n} \frac{\partial}{\partial x_{j}}(a_{jk}(x, \partial u)v_{k})) \longrightarrow 0$$

as $|||v||| \rightarrow 0$. By (3.1), it holds that

$$(w, \widetilde{A}(u+v) - \widetilde{A}u) = \sum_{j=1}^{n} (w_j, a_j(x, \partial(u+v)) - a_j(x, \partial u))$$
$$= \sum_{j=1}^{n} \left(w_j, \sum_{k=1}^{n} \frac{\partial}{\partial u_k} a_j(x, \partial u + \theta_{x,v} \partial v) v_k \right)$$

for some $\theta_{x,v}$ with $0 < \theta_{x,v} < 1$. Hence we have that

$$\begin{split} \frac{1}{|||v|||} &\left(w, \ \widetilde{A}(u+v) - \widetilde{A}u + \sum_{j,k=1}^{n} \frac{\partial}{\partial x_{j}} (a_{jk}(x, \ \partial u)v_{k})\right) \\ &= \frac{1}{|||v|||} \sum_{j,k} \left(w_{j}, \ \{a_{jk}(x, \ \partial u + \theta_{x,v}\partial v) - a_{jk}(x, \ \partial u)\}v_{k}\right) \\ &= \left(\sum_{j,k} \frac{v_{k}}{|||v|||}, \ w_{j}\{a_{jk}(x, \ \partial u + \theta_{x,v}\partial v) - a_{jk}(x, \ \partial u)\}\right) \\ &\leq \sum_{j,k} ||w_{j}\{a_{jk}(x, \ \partial u + \theta_{x,v}\partial v) - a_{jk}(x, \ \partial u)\}|| \ . \end{split}$$

We put $g_{jk,v}(x) = w_j \{a_{jk}(x, \partial u + \theta_{x,v}\partial v) - a_{jk}(x, \partial u)\}$. Then we only need to show that $||g_{jk,v}|| \to 0$ as $|||v||| \to 0$ for $j, k=1, \dots, n$. If not, for some j, k, there are a sequence $\{v^{(m)}\} \subset Y$ and an $\varepsilon_0 > 0$ such that

$$(3.5) \qquad \qquad |||v^{(m)}||| \longrightarrow 0 \quad \text{as} \quad m \longrightarrow \infty \quad \text{and}$$

$$(3.6) ||g_m|| \ge \varepsilon_0 ,$$

where $g_m = g_{jk,v(m)}$. By (3.3), it holds that

$$(3.7) |g_m(x)| \le 2M |w_j(x)| .$$

(3.5) implies that

$$||v_i^{(m)}|| \longrightarrow 0$$
 as $m \longrightarrow \infty$, $i=1, \dots, n$.

Thus we can extract a subsequence $\{v^{(l)}\}$ of $\{v^{(m)}\}$ such that

 $v_i^{(l)}(x) \longrightarrow 0$ a.e. x on Ω as $l \longrightarrow \infty$, $i=1, \dots, n$.

By (3.1), this convergence yields that

$$(3.8) \qquad g_{jk,v}(l)(x)^2 \longrightarrow 0 \quad \text{a.e. } x \text{ on } \Omega \text{ as } l \longrightarrow \infty \text{ , } j, k=1, \cdots, n \text{ .}$$

From (3.7) and (3.8), we have by Lebesgue's convergence theorem that $||g_i|| \rightarrow 0$ as $l \rightarrow \infty$, which contradicts (3.5).

2) Secondly, we prove that $\widetilde{A}: Y \to Y'$ is coercive. Let $u \in Y$. Then we have

$$(u, \widetilde{A}u - \widetilde{A}0) = \sum_{j=1}^{n} \int_{\mathcal{Q}} u_{j}(a_{j}(x, u) - a_{j}(x, 0)) dx$$
$$= \sum_{j,k=1}^{n} \int_{\mathcal{Q}} a_{jk}(x, \theta_{x,u}\partial u) u_{k} u_{j} dx ,$$

for some $\theta_{x,u}$ with $0 < \theta_{x,u} < 1$, by (3.1). Thus we have by (3.4) that

$$(u, \widetilde{A}u - \widetilde{A}0) \ge \alpha \sum_{j=1}^n \int_{\mathcal{Q}} u_j^2 dx \ge \alpha C |||u|||^2$$

for some constant C>0. In the last inequality, we used Poincaré's inequality, since Ω is bounded. Therefore we have that

$$\frac{1}{|||u|||}(u, \tilde{A}u) \ge \frac{1}{|||u|||}(u, \tilde{A}0) + \alpha C|||u||| \ge -||\tilde{A}0|| + \alpha C|||u||| .$$

This yields that $\lim_{||u||\to\infty} (1/||u|||)(u, \tilde{A}u) = \infty$, i.e., \tilde{A} is coercive.

3) Finally we show that $\partial \overline{A}(u)$ is positive symmetric for each $u \in Y$. Let u, v, w be any elements of Y. Then

$$(w, \,\delta \widetilde{A}(u)v) = \left(w, \, -\sum_{j,k=1}^{n} \frac{\partial}{\partial x_{j}} (a_{jk}(x, \,\partial u)v_{k})\right)$$
$$= \sum_{j,k=1}^{n} \int_{\mathcal{Q}} a_{jk}(x, \,\partial u)w_{j}v_{k}dx \, .$$

Hence, by (3.2), we have that $(w, \delta \widetilde{A}(u)v) = (v, \delta \widetilde{A}(u)w)$, i.e., $\delta \widetilde{A}(u)$ is symmetric. And positivity follows from (3.4).

Consequently, A satisfies the hypothesis of Corollary 2, and hence A is a maximal cyclically monotone operator in H.

REMARK 4. This example is dealt with by Y. Komura and Y. Konishi [3] without proof.

ACKNOWLEDGEMENT. The author would like to express her sincere gratitude to Professor Y. Komura for his valuable advice and constant encouragement, and to the referee for pointing out mistakes and simplifying the proof of Lemma 3.

References

- [1] H. BREZIS, Operateurs maximaux monotones et semi-groupes de contradictions dans les espaces de Hilbert, Math. Studies, 5, North-Holland, Amsterdam, 1973.
- [2] F.E. BROWDER, Normal solvability for nonlinear mappings into Banach spaces, Bull. Amer. Math. Soc., 77 (1971), 73-77.
- [3] Y. KOMURA and Y. KONISHI, Nonlinear Evolution Equations, Iwanami-Kōza Kiso-Sūgaku Analysis (2) 7, Iwanamishoten, Tokyo, 1977, in Japanese.
- [4] V.A. SMIRNOV, A Course of Higher Mathematics V. International Series of Monographs in Pure and Applied Mathematics 62, Pergamon Press Oxford, 1964.

Present Address: Department of Mathematics Tokyo Metropolitan University Fukazawa, Setagaya-ku, Tokyo 158